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1. Which of the following is not a domain in the three domain classification?
A) Eukarya B) Bacteria
O Cyanobacteria D) Archaea
2. Teminism is the phenomenon of synthesis of
A) DNA depending RNA B) RNA depending DNA
O RNA depending Proteins D) RNA depending RNA
3. Nodules with nitrogen fixing bacteria are present in
A) Oriza sativa B) Triticumestivum
O Pisumsativum D) Zea mays
4. Bioluminescence is usually associated with
A) Chrysophyta B) Pyrrophyta
O Chlorophyta D) Phaeophyta
5. Name the Irish moss which produces carageenin?
A) Octoblepharum albidum B) Leucobryumbowringii
O Porphyra tenera D) Chondruscrispus
6. Which of the following are not algae in the true sense?
A) Spirogyra and Chlorella B) Nostoc and Spirogyra
O Ulva and Chlorella D) Nostocand Chlorella
7. The following is not a vegetative mode of reproduction in fungi
A) Fragmentation B) Rhizomorph
0) Sclerotia D) Somatogamy
8. Rhizopus, Pencillium and Aspergillus are examples of
A) Parasitic fungi B) Symbiotic fungi
O Saprophytic fungi D) Predacious fungi
9. The following is not cultivated asan edible fungi
A) Coprinuscomatus B) Agaricusbispora
O Volvariellavolvacea D) Pleurotussajorcaju
10.  Parmeliais known as
A) Iceland moss B) Orchil

C) Rock flower D) Reindeer moss
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In Lichens following special vegetative structure is formed as respiratory organs
A) Soredia B) Isdia
) Cyphellae D) Medulla

When a big fish eats a small fish, which eats water fleas supported by
phytoplankton, the water fleas are

A) Producers B)
() Secondary consumers D)

Primary consumers
Tertiary consumers

Match the following

a. Apothecium . Erysiphe

b. Perithecium . Peziza

c. Cleistothecium . Claviceps

d. Ascostroma . Loculoascomycetidae

A) a2 b-l,c3,d4
C)  a4,b2 c1,d3

B) a2 b3,c1,d4

D) a4, b2 ¢3,d1

Red rust in tea is caused by
A) Fungi B) Bacteria 0) Algae D) Virus

Basidospores differ from ascospores in which of the following characters?
A) Four spores and are exogenously produced

B) Eight spores and are exogenously produced

O Four spores and are endogenously produced

D) Eight spores and are endogenously produced

Cyanobacteria form a variety of associations with bryophytes ranging from the
almost accidental to close symbioses. Name the bryophyte that possesses this
property

A) Marchantia B)
C) Porella D)

Anthoceros
Polytrichum

When moss spore germinate they form

A) Leafy gamaetophyte directly

B) Capsule directly

O Protonema , then a leafy gametophyte

D) Protonema which bears archegonia and antheridia
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The conducting tissues do not consists Xylem and Phloem tissues in
A) Pinus B) Cycas
O Brassica D) Funaria

The sporophyte containspseudoelators in

A) Riccia B) Marchatia
C) Anthoceros D) Funaria
The protostele of -------------- species shows variations with respect to its shape

and arrangement of vascular tissue such as actinostele, plectostele, mixed
protostels and plectosteles

A) Marsilea B) Salvinia

O Equisetum D) Lycopodium
Dehiscence of sporangia takes place by a vertical splitting in
A) Lycopodium B) Selaginella

O Equisetum D) Marselia

In theprothallus of the fern plant
A) The nuclei of all cells including sex organs and gametes have monoploid

number
B) Only the sex organs and gametes have monoploid number
O Only the gametes have monoploid number

D) The cells have mixploid condition

Winged seeds are present in

A) Cycas B) Pinus

O Gnetum D) Ephedra

Deodar wood, the strongest coniferous wood is obtained from
A) Cryptomeria B) Cedrus

) Taxodium D) Sequoia

The gymnosperm Ginkgo bilobais considered as living fossil because it retains
primitive characters and

A) It originated in the Triassic period of Mesozoic era

B) It originated in the Jurassic period of Mesozoic era

C) It originated in the Cretaceous period of Mesozoic era

D) It originated in the Triassic period of Paleozoic era

In the system of classification by Bentham & Hooker dicotyledonous plants have
been classified as

A) Polypetalae, Gamopetalae, Monochlamydae

B) Polypetalae, Gamopetalae, Dichlamydae

O Archechlamydae, Polypetalae, Monochlamydae
D) None of these
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In the plant name Capparislasiantha R.Br..ex.DC. The author citation indicated

that
A) Robert Brown published the name
B) De candolle named it

O] Robert Brown has more status than de Candolle
D) Robert Brown and de Candolle have equal status

Gynobasic style is characteristic to the family
A) Liliaceae B) Loranthaceae
O Lauraceae D) Labiatae

In a heaxaploid plant 2n=42. The base chromosome number x =

A) 21 B) 7 C) 14 D)
Triticumaestivum is a polyploidy with genomes from

A) Triticummonococum&Aegilopsspeltoedus

B) Aegilopsspeltoedus &Aegilopsissquarrosa

O Aegilopsissquarrosa &Triticummonococum

D) Triticummonococum ,Aegilopsspeltoedus &Aegilopsissquarrosa

The fruit in the family cruciferae is

A) Siliqua B) Achene

O Berry D) Follicle
Cincinnus inflorescence is a distinguishing feature of family
A) Rutaceae B) Metastomaceae
O Caryophyllaceae D) Lythraceae
Quinine is obtained from the plant that belongs to the family
A) Rutaceae B) Rhamnaceae
O Rosaceae D) Rubiaceae

The fleshy edible fruit of cashew nut is the modified

A) Ovary B) Thalamus

O Mesocarp D) Epicarp

A species confined to a small area is known as

A) Rare B) Key stone

O Endemic D) Endangered
For preservation in the herbarium, the specimens are treated with
A) Heating B) Repellents

O] Fumigants D) All the above
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Which among the following system is not a phylogenetic system of classification?
A) Charles Bessey B) Robert Thorne
O Engler&Prantl D) De Candolle

A taxon should have a single correct name if the same name to be used for
different species or taxa is known as

A) Tautonym B) Basionym

C) Homonym D) Nomennudum
The pollen tube that enters the ovule by piercing the integuments is known as
A) Porogamy B) Chalazogamy

O Mesogamy D) Syngamy
Endosperm development is completely absent in

A) Orchidaceae B) Podostemaceae
C) Both in A&B D) None of the above
Monosporicembryosac with eight nuclei is found in

A) Adoxa B) Polygonum

O Allium D) Fritillaria

Indian rubber plant is

A) Ficuselastica B) Ficusaltissima

O Ficuscarica D) Ficuspalmate

Saffron is obtained from

A) The stigma B) The stamens

C) The petals D) The seeds

Ragi is obtained from

A) Oryza sativa B) Eleusinecoracana
O] Panicummiliaceum D) Sorghum vulgare

Chlorofluorocarbons rise to the stratosphere and
A) React directly with stratospheric ozone to destroy it.

B) Become free radicals that react with oxygen to create ozone.

C) React with free radicals to remove carbon dioxide.

D) After interacting with UV energy, become free radicals, which destroy
ozone.

“Jeevani” made by using ethanobotanical lead from the tribe
A) Kani B) Kurumar
O Vellan D) Naikkan
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Generally the tribal people are non- vegetarians except

A) Todas B) Kora

O Paniyan D) Kurichiyar
The fibers of Flax and Hemp originated from

A) Xylem B) Pericycle
O Phloem D) Endodermis

During secondary thickening, the epidermis ruptured and the protective function
is taken by

A) Phellum B) Phellogen

O Periderm D) Phelloderm

In higher plants, parts get detached from mother plant by forming
A) Callus B) Separation layer

) Protective layer D) Abscission zone

Calorimeters functions only in the visible light of frequency ranging from

A) 400-700nm B) 200-400nm
O) 700-800nm D) 100-400nm
Which of the following is not a natural dye?

A) Brazilin B) Hematoxylin
O Colchineal D) Aniline blue

Which of the following can be used to stain DNA?

i. Feulgen ii. Ethidium bromide iii.Acetocarmineiv. Orcein
A) iand ii only B) i and iii only

O iand iv only D) ii and iv only

The vital evidence to discover DNA structure wasprovided by
A) Atomic Force Microscopy

B) Spectrophotometry

O X-ray Diffraction

D) Mass Spectrometry

All of the following are true for both TEM and SEM except:

A) The illuminating source is an electron beam
B) The microscope is focused using electromagnetic lenses
O Can be used to view specimens smaller than 0.2 micrometers

D) The specimen must be sectioned prior to viewing
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“Human cells contain DNA sequences that match the sequences found in bacterial
16SrDNA.” What is your response to this statement?
A) The statement is untrue, because healthy human cells should contain no

bacterial DNA

B) The statement is true, because mitochondria contain bacterial DNA
sequences

) The statement is untrue, because there is no such thing as rDNA, only
rRNA

D) The statement is true, because the 16S sequences are part of the human
18S sequences

For transmission electron microscopy, thin sections have to be prepared by
A) Rotary microtome B) Sled microtome
O Cryomicrotome D) Ultramicrotome

Haematoxylin is obtained from the
A) Heart wood of Haematoxylumcampechianum of the family Fabaceae

B) Leaf of Haematoxylumcampechianum of the family Fabaceae
O Heart wood of Haematoxylumcampechianum of the family Malvaceae
D) Leaves of Haematoxylumcampechianum of the family Malvaceae

The fuelgen nuclear reaction included the following

A) Reaction of deoxyribose with leucofuschin to give purple colour to DNA

B) Reaction of ribose with leucofuschin to give purple colour to DNA

0) Removal of purine at purine deoxyriboseglycosidic bond of DNA by acid
hydrolysis.

D) All of the above

In humans, the Barr body is an

A) Active X chromosome in females
B) Active X chromosome in males

O Inactive Y chromosome in males
D) Inactive X chromosome in females

Disease(s) caused by perturbation of protein conformation

A) Prion diseases only B) Alzheimer’sdisease only
C) Both A&B D) None of these

The following is not a carbohydrate.

A) Starch B) Glycogen

O Inulin D) Prostaglandins
Kwashiorkor disease is caused by deficiency of

A) Starch B) Protein

O] Fatty acids D) Minerals
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The anticodon loop of atRNA typically consists of

A) 3 codons B) 6 codons

C) 7 codons D) 5 codons

Transcription is specifically regulated by regulatory proteins of unique motifs -
A) Helix-turn Helix B) Zinc finger

O Leucine Zipper D) All the above

Eco R1 is the restriction enzyme that recognizes the following DNA sequence
A) GGATCC

CCTAGG
B) GAATTC

CTTAAG
0) GCGC

CGCG
D) TCGA

AGCT
Which of the following is a water soluble vitamin?
A) Vitamin A B) Vitamin B
O Vitamin K D) Vitamin D
Which of the following is not listed as essential amino acid in humans?
A) Arginine B) Valine
C) Leucine D) Alanine

In higher plant leaves, the reduction of nitrate to ammonium takes place by the
combined action of nitrate reductase localized in cytosol and nitrite reductase
localized in

A) Peroxisomes B) Mitochondria

C) Chloroplasts D) Cytosol

The swelling of doors and windows during rainy season is due to
A) Adsorption of water B) Absorption of water
O Imbibition of water D) Diffusion of water

Which of the following represents the sequence of electron flow in the light
reactions of photosynthesis in higher plants?

A) H,O — photosystem I — photosystem II - NADP

B) H>O — photosystem II — photosystem [ - NADP

O H,0 — photosystem II — photosystem [ — ATP

D) NADPH — photosystem I — photosystem Il — O,
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The atom within each cytochrome molecule that actually accepts and release
electron is

A) Carbon B) Iron

O Zinc D) Oxygen

Which of the following statements are associated with the process of
photorespiration in plants?

(P) Photorespiration takes place in only C3 plants.

(Q) Photorespiration takes place in only C4 plants.

(R) Photorespiration takes place in both C3 and C4 plants.

(S) Glycolate is oxidized to glyoxylate in the peroxisome.

(T) Glycolate is oxidized to glyoxylate in the mitochondria.

A) (P) and (S) B) (R) and (S)

C)  (Qand(T) D) (R)and(T)

How many distinct photosynthetic mechanisms exist in vascular plants?

A) 2 B) 3 0) 4 D) 1
In the following crops, which produces maximum carbohydrate/unit land?
A) Rice B) Wheat

O Potato D) Sugarcane

The treatment that induces rapid growth and development in the plants of
temperate or polar region is

A) Vernalization B) Grating

0) Scarification D) Soaking of seeds
Movement of pollen tube towards micropyle of ovule depends on
A) Thigmotropism B) Thermotropism

C) Chemotropism D) Hydrotropism

Which of the following groups of enzymes are unique to the Calvin cycle?

A) Ribulosebisphosphate carboxylase, phosphoribulokinase, and
sedoheptulosel, 7-bisphosphatase

B) Ribose 5-phosphate isomerase, epimerase, and aldolase

O Glyceraldehyde3-phosphate dehydrogenase, phosphofructokinase, and
phosphoenolpyruvate carboxylase

D) Phosphoglycolate phosphatase, glycerol kinase, and serine synthetase

Biomass turnover time is the ratio between biomass and productivity of an
ecosystem. Which of the following forests should have highest biomass turnover
time?

A) Tropical dry forests

B) Tropical wet forests

C) Temperate deciduous forests

D) Boreal forests
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A community dominated by shrubs and bushes is called
A) Steppe B) Prairie
O Scrub D) Pampas

Population of individuals of a species having genetically fixed variations but are
interfertile and placed under same taxonomic species is called

A) Ecads B) Ecotypes

) Endemic species D) Key stone species

Which among the following is not an organophosphates pesticide?

A) Parathion B) Malathion
O Methyl parathion D) DDT
Tectonagrandis shed leaves during

A) Winter B) Summer

C) Before flowering D) After fruiting

Which of the following represents a food chain

A) Grasshopper-Green plants-Frog-Snake-Peacock
B) Green plants - Grasshopper- -Frog-Snake-Peacock
O Grasshopper-Green plants- Snake- Frog —Peacock
D) Green plants -Grasshopper- Frog--Peacock- Snake

Match Column | Column II

a. Strontium (i) minamata

b. Mercury (i1) itai—itai

c. lead (iii) bone cancer

d. Cadmium (iv) anaemia
A) a- iii, b-1, c-iv, d-ii B) a- ii, b-i, c-iv, d-iii
C) a- 1, b-ii, c-iii, d-iv D) a- 1v, b-1 c-iii, d-ii
The period known as Age of Giant Lycopods
A) Cretaceous B) Jurassic
C) Triassic D) Carboniferous

Gondwana land consists of

A) India, Africa, Australia, South America &Antartica
B) South America &Antartica

O] Africa, America &Antartica

D) India & Australia
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Which of the following best supports the endosymbiotic theory of the
evolutionary origin of mitochondria?
A) Mitochondria, chloroplasts, and prokaryotes contain electron carriers.

B) Genes for mitochondrial pyruvate dehydrogenase subunits are found in the
nuclear DNA

O Mitochondrial and bacterial ribosomal functions are inhibited by the same
antibiotics

D) The outer mitochondrial membrane contains the protein porin.

The organism which requires priority of conservation according to the Red Data
Book published by IUCN is

A) Vulnerable B) Endangered
O Rare D) Threatened
The following biofertilizer is not a nitrogen source

A) Rhizobium B) Azolla

C) Pseudomonas D) Azospirillum

Biosphere reserve in Madhya Pradesh

A) Gulf of Mannar B) Sundarbans

O Nandadevi D) Panchmarhi

Diploid organisms in which one chromosome of a single pair is missing are called
A) Trisomic B) Nullisomic

0) Monosomic D) Tetrasomic

Abnormal males possessing an extra X chromosome develop
A) Klinefelter Syndrome B) Turner Syndrome
C) Down syndrome D) Patau Syndrome

In meiosis, an inversion in one member of a pair of homologous chromosomes
will most likely lead to which of the following?
A) Nondisjunction of the affected chromosome

B) Chromosomes with duplications and deficiencies

O Increased recombination frequency in the inverted region

D) Mispairing of the affected chromosome with a nonhomologous
chromosome

Smallest unit in the cell wall is

A) Fibril B) Microfibril

C) Micelle D) Cutin

The following crystalline DNA helix structure is left handed
A) A- DNA B) B -DNA

C) Z -DNA D) D -DNA
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During meiosis, crossing over between two non-sister chromatids occurs at
A) Leptotene B) Zygotene
O Pachytene D) Diplotene

If an organism of genotype AaBbCcDd are test crossed, how many different
phenotypes can appear in the progeny
A) 4 B) 8 C) 12 D) 16

The genotype Ab/aB produces 8% each of cross over type gametes. The distance
between A and B is estimated as

A) 8cM B) 16cM

) 4cM D) None of the above

A class of mutations caused by addition or deletion of one or two nucleotides is
called

A) Silent Mutation B) Transition

O Frame shift D) Transversion

Chloroplast based DNA markers are now being used for the taxonomic
identification of plants. This method is called

A) RAPD B) RFLP

C) AFLP D) DNA barcoding

Suppose that in a sample of 900 sheep, 891 are white and 9 are black. White
wool is dominant over black wool. Estimate the frequency of recessive allele
A) 07 B) 0.3 C) 0.9 D) 0.1

Individuals born with a condition known as phenylketonuria must control their
intake of phenylalanine or suffer developmental problems. Because of this they
must avoid foods rich in what?

A) Proteins and lipids B) Fats and oils

O Proteins D) Simple sugars

The mRNA codon GUC will be recognized by the anticodon of tRNA
A) CAG B) GUC C) GAC D) CTG

The radioisotope used to label protein differently from nucleic acid is
A) P B) 140 ) 35 D) N

There are three kinds of RNA polymerase, each specific for one class of RNA.
Which of the following is the correct match?

A) RNA I-rRNA, RNA II -mRNA, RNA III-tRNA

B) RNA I-rRNA, RNA II-tRNA, RNA III-mRNA

C) RNA I-mRNA, RNAII-tRNA, RNAIII-rRNA

D) RNA I-tRNA, RNA II-tRNA, RNA III- r RNA
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The terminator codons are
A) UAA, UAG, UGA B) Uuy, UUC, UUG
C) UUA, UGG, UGA D) UGC, UGG, UAG

A base change in DNA that would not affect the amino acid sequence in the
protein is known as

A)  Missense mutation B) Nonsense mutation

C)  Silent Mutation D) Neutral mutation

Electrophoresis of histones and myoglobin under non-denaturing conditions (pH =
7.0) results in

A) Both proteins migrate to the anode

B) Histones migrate to the anode and myoglobin migrates to the cathode

O Histones migrate to the cathode and myoglobin migrates to the anode

D) Both proteins migrate to the cathode

Formation of what type of chemical bond is catalyzed by DNA ligase

A)  Phosphoester B) Hydrogen
C) Glycosidic D) Ester

The following crop is used in phytoremediation

A)  Mustard B) Wheat

C) Rice D) Sugarcane

Freeze preservation of living plant cells involves the following steps
A)  Freezing- thawing — storage- reculture

B)  Freezing-storage- reculture —thawing

C)  Freezing-storage-thawing-reculture

D) Freezing--reculture -storage-thawing

The cDNA library of the organism will be
A)  Tissue specific B) Growth specific
C)  Organ specific D) Cell specific

Drought tolerance in plants is strongly correlated with the accumulation of
aminoacid

A)  Serine B) Lysine

C)  Tryptophan D) Proline

If male plant is diploid and female plant is tetraploid , the endosperm will be
A) Haploid B) Pentaploid

C)  Triploid D) Tetraploid
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The tool used for pairwise analysis of DNA sequences

A)  ClustalW B) PROBCONS

C) MUSCLE D) BLAST

Which of the following public domain is/are open access data bases?
A) NCBI B) ExPASy

C) PDB D) All the above

Emasculation in coconut tree is done by

A) Removing anthers from the male flowers

B) Removing anthers from the bisexual flowers

C) Removing the male flowers from the inflorescence

D) Removing anthers from the male flowers before anthesis

When light is irradiated into a rapidly flowing solution containing cells, a
scattered light is released from the cells and cells can be separated based on the
properties of the scattered light. This principle is used in

A) Radioimmunoassay B) Flow cytometry

C)  Immunoprecipitation D) Fluorescence microscopy

The standard deviation of the data is 6. When each observation is increased by 1,
the standard deviation of the new data is
A) 6 B) 8 0) 5 D) 7
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